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QUESTION 1

You are working on a dual-stack system and want to configure an integration scenario with one sender and two
receivers. Each receiver uses two different service interfaces. The WS adapter is used for each receiver. The sender
provides an IDoc from an ABAP system.

How many sender agreements do you have to configure?

A.0

B.1

C.3

D.2

Correct Answer: A

QUESTION 2

You want to use standard functions in your message mapping. In addition to "true", which value is interpreted as true by
standard functions that require Boolean input? (Choose two)

A "X

B."1"

C. "TRUE"

D. No other value

Correct Answer: BC

QUESTION 3

In which cases do you need to use ccBPM processes? (Choose two)
A. When collecting messages

B. When querying databases

C. When using a synchronous/asynchronous bridge

D. When using scenarios that are based on an AEX installation

Correct Answer: AC

QUESTION 4
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Where can you maintain content-based routing?
A. In the value mapping group

B. In the sender agreement

C. In the receiver agreement

D. In the receiver determination

Correct Answer: D

QUESTION 5

The data type used in your mapping program has been structurally modified (for example, the parent name or the
namespace has been changed). What is the next step you have to perform?

A. Adjust mappings using the data.

B. Reload test messages.

C. Adjust the structure of the inconsistencies in the data type.
D. Map original nodes to new nodes using drag and drop.

Correct Answer: A
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